N & 0l & AF S & M M

R s R SE=an);
HH: HEome FE(SBSL2F/HK)
SR HSAE 25 (29l 8)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ME&sH 14,644,006 13,161,660 1,482,346
s 1,700,000
J| 1,569,648
= 675,023
Al 10,699,335
HsolzZet A5 (23e22/H=) 13,824,713 12,498,877 1,325,836
s 1,700,000
J| 1,569,648
< 675,023
Al 9,880,042
HsAE &= 8,620,941 7,351,453 1,269,488
s 1,700,000
J| 1,134,000
< 425,000
Al 5,361,941
SSHSAE 29 454,000 816,949 A 362,949
401 AIEHI L 2 CHYI 454,000 768,299 A 314,299
01 A& HI 451,552 768,299 A 316,747
OLZZ3MESANE FNES
3,000,000 * 2000 A& 60,000
OAOIEEE RANE= 3,000,000& = 18 54,000
OUUIIY £ZS &XSA
150,000,000 * 1JH4 * 99.28/100 148,920
ONEEX UHAASHE E=3 A
100,000,000& * 1% * 99.28/100 99,280
OEX=7301E 284 HIItd ZEX3A
45,000,000& * 2% * 99.28/100 89,352
03 AlE 2 THHI 2,448 0 2,448
OCAUETE SES EX3A
150,000,000 * 1JH4 = 0.72/100 1,080
ONEEX UHAASEHE E=3 A
100,000,000 = 1% * 0.72/100 720
OEX=7301E 284 HIItd ZEX3A
45,000,000 * 2® = 0.72/100 648
SUMSAE 29 106,960 116,960 A 10,000
201 £B-2d| 6,960 6,960 0
02 =224l 6,960 6,960 0
Osf3F dIIe=s 300,000& = 12& 3,600
OQICtIAAOER HIIRS
150,000& * 12& 1,800
OMEEX SHXEO0I M3
80,000&  12& 960
ONdE s2& dIIR= 50,000& = 123 600
401 AIEHI L 20 100,000 110,000 210,000
01 A& Hl 100,000 110,000 A 10,000




SN HSUED
M HSTo DE(SHLBY/HS)
ol MSAS &5 (29 a8)
SN EH - (EH) - HRAY - BES 0] &k o4 il Hl D2
OSUMSAE 25017 &4
4,000,000& = 10& 40,000
OSUMSAE &3 25017 DA
4,000,000& = 107K 40,000
OSUHMSAE 25017 24
200,000& * 100& 20,000
SFA U3 E 23 1,333,299 1,474,148 A 140,849
101 124 4] 632,599 701,358 A 68,759
04 JIZtNZ22XNSE+ 632,599 701,358 A68,759
OH+2T 2y AR 587,799
—Jl2s 69,7603 = 222 = 3052 468,090
—F=5=4 69,760% * 22 * 63 96,688
— GRS FEINSY 69,7603 * 2% » 15 23,021
ONU+gE Y G453
2,800,000& = 169¥ 44,800
201 2Bt2 550,600 611,400 260,800
01 AtR 22l | 48,380 88,280 A 39,900
OEELBEA WA 2,0008 = 2,500% 5,000
OdU=+=dd 25 ¢ 10,000,000& * 14 10,000
OdU+=gd 223 F# 1,000,000& » 123 12,000
OZ AL At 2teltl 3,000,000& = 14| 3,000
O3+ dEgz 35,0008 = 504 = 12& 2,100
ol de=z 30,000& = 13CH » 12 4,680
OUEIHE =25 =2 600,000 = 12E 7,200
ONU+ZE BIRI}E 7Y
3,000& = 1,0000H 3,000
OY+3 g#s 22X 7Y
300,000 * 3 A 900
O34 IFF HE 50,000& = 102/ 500
02 S2=29Hl 502,220 523,120 A 20,900
O3Z2x22 % HMA 390,000
—dIIes 10,000,000& = 12& 120,000
— 4ol 23 10,000,000& * 12&€ 120,000
—JtAe=s 500,000& = 252 = 12E 150,000
O&IIANE sA2el e 850,000& * 128 10,200
OsdJIANE sX2e| & 150,0008 » 123 1,800
OLYANE SX 2l 275,000& * 128 3,300
OxPANE SSHFLES 1,500,000& * 13 1,500
OALAE HSIIsEZ 1,500,000 » 13 1,500
OfIMES RA2c e 400,000& ~ 123 4,800
OMU+gE ®IINL SX2%
800,000& = 53] 4,000




FAM: HEdsh
M Mgt 2H(2LZH/MK)
S MSAE =25 (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
O&U==ZE JIAANE RRE=
800,000& = 53| 4,000
OaUli+=gd A= 500,000& = 63l 3,000
OCCTV =Xl 22l dl 300,000& = 16CH 4,800
FELES AEZ 20,000 = 23CH = 12& 5,520
O=HelAAd INE=E2PNL: ]
1,000,000& * 12& 12,000
O22d A= 3,000,000& = 14 3,000
OCaU==g% 283 4 1,000,0008 * 23] 2,000
OM+YE H28Y
2,000& = 23] = 5,800m 23,200
OAUW=g& oz 32 E9H
3,000,000& * 14l 3,000
Osgslazel & AHOEZCAAYE FXNES 9,600
—SES2ZHCANLE RIS
500,000& = 12& 6,000
—HOIE22AAY RXE+
300,000& = 12& 3,600
OaUl+=2dd MSAE HAMYLE It
15,000,000& * 14 15,000
206 M= Hl 12,500 14,500 A 2,000
01 M2 4l 12,500 14,500 A 2,000
O&IIIAH EHl 42225 7
1,000,000 = 23l 2,000
O=&2el8 pHEZE M +2  500,000& * 62l 3,000
O==Zz2el&g STM + 500,000& = 63l 3,000
Oz E L=H(EFLY) 7Y
500,000& = 63l 3,000
O3+ & A7 2 300,000& = 53| 1,500
207 A& | 22,000 0 22,000
02 & AR I 22,000 0 22,000
OCaU==g% 3& 28 SHOIXN #5
22,000,000& = 14 22,000
301 LBENF 75,600 97,890 A 22,290
12 J|EtE &= 75,600 97,890 A 22,290
OalUl=gd Z20H 29 2AIE 75,600
— QI M= 30,000& * 23| » 252 15,120
— ZetHl A ZAE 30,0003 * 23] x 252¢ 15,120
—A0d Z2A= 30,000& * 23| » 252 15,120
—OtR0t2Y ZAt=
60,000& * 23| » 252¢ 30,240
401 Al BIZ 201 8] 40,000 40,000 0
01 A& HI 40,000 40,000 0
O&=x=J1 2H uH 10,000,000& * 14 10,000

_3_
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FAM: HEdsh
HH: HEome FE(SBSL2F/HK)
SR HSAE 25 (29 a8)
SA - BB B () - MM - BES Ol &t o San HmEET
SEEEFEEER T TS
10,000,000& * 14 10,000
(Y EHSSFEE(IFLHYEUSZ2H) 595,387 0 595,387
401 Al HI K 201 595,387 0 595,387
01 A& tI 591,636 0 591,636
OYZABRHBAA XA (SSUMHA)
595,386,300& * 14l * 99.37/100 591,636
03 Al 2 THHI 3,751 0 3,751
OFZABRHZAA KA (SSUMHA)
595,386,300& * 141 = 0.63/100 3,751
(FNAEZ=ZEAA LAY 1,000,000 3,800,000 22,800,000
s 1,000,000
401 AIEHI L 2CHEI 1,000,000 3,800,000 A 2,800,000
s 1,000,000
01 A& Hl 993,700 3,800,000 A 2,806,300
OARZHEAA K4
1,000,000,000& * 1A x 99.37/100 993,700
s 993,700
03 Al 2 THHI 6,300 0 6,300
OArmzZHEBAA T4
1,000,000,000& * 1Al = 0.63/100 6,300
s 6,300
()2 UHSUEHAE 2,000,000 0 2,000,000
J| 1,000,000
Al 1,000,000
401 AIEHI L 20 2,000,000 0 2,000,000
J| 1,000,000
Al 1,000,000
01 A& HI 2,000,000 0 2,000,000
OZF=EHUHI M S dEH 2 E
2,000,000,000& * 1A 2,000,000
J| 1,000,000
Al 1,000,000
(D)L FANU2SH HEUSSE =4 1,300,000 0 1,300,000
s 300,000
< 300,000
Al 700,000
401 AIEHI L 20 1,300,000 0 1,300,000
s 300,000
< 300,000
Al 700,000
01 A& HI 1,300,000 0 1,300,000
0% NUSER HS2H T4
1,300,000,000& * 14 1,300,000
s 300,000
< 300,000




=3 s
Hsomet E (222 /HK)
HEAL 25 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
| A 700,000
(=2)9= OIXIS OF2& QXZALC =4 1,000,000 0 1,000,000
s 400,000
Al 600,000
401 Al I 28I 1,000,000 0 1,000,000
s 400,000
Al 600,000
01 A& HI 1,000,000 0 1,000,000
OZ= OtXls OF7& QAX&C =4
1,000,000,000& * 14l 1,000,000
s 400,000
Al 600,000
(Z2)EF= S2T ANEE B2 BA 250,000 0 250,000
< 125,000
Al 125,000
401 Al & HI & 2 O8I 250,000 0 250,000
< 125,000
Al 125,000
01 A& HI 250,000 0 250,000
OgZ= 23 AN&E2 22 SA
250,000,000& * 14 250,000
= 125,000
Al 125,000
(F)EF=UMSHEIMNES 446,000 0 446,000
J| 134,000
Al 312,000
401 AIEHIZL 28I 446,000 0 446,000
J| 134,000
Al 312,000
01 A& Bl 446,000 0 446,000
SEEELIPENIZPIEPS
446,000,000& = 14 446,000
J| 134,000
Al 312,000
Hssd =4 5,203,772 5,147,424 56,348
J| 435,648
= 250,023
Al 4,518,101
FFANA=32Y 221,178 214,526 6,652
307 21201 A 221,178 214,526 6,652
03 AHHEE2LHIES 221,178 214,526 6,652
OZ=AMAU=Es 2 (Exs FY)
221,178,000 * 14| 221,178
AYE |4 71,558 105,070 A 33,512
101 14 dl 9,558 14,570 25,012




M HSXESD
HH: HEome FE(SBSL2F/HK)
@4 Ms8d x4 (cho &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
04 JIZHHZ2XREES 9,558 14,570 A5,012
O&Xlzd X & A& U4z =& 9,558
—Jl=s 69,7603 * 18 = 110 7,674
- F5= 69,760 * 1% = 22¢ 1,535
—flsesd 69,7603 * 1H » 5& 349
307 21201 A 62,000 90,500 228,500
02 IZtE S AHE L 62,000 80,000 A 18,000
OagERSHs AJNRE N (RH,24,8
a(2xs ¥d) 30,000,000& * 14 30,000
Olgza= A& MOIZEH KB (BEx
g %) 7,000,000& = 14 7,000
OXXES NIAMNG(BEEXs FNH)
25,000,000& = 14 25,000
ZOH A=K 70,420 82,100 211,680
301 LeEBAF 3,420 6,100 A 2,680
09 #HALAHIXI &3 3,420 3,940 A 520
Od=ZMAMSUE It 0H]
90,000& * 13¥ 1,170
OXeIEs=sENsUHa &8 XA ol
90,000% = 59 * 53 = 2,250
307 21201 A 67,000 76,000 A9,000
02 QAFAAFEX 15,000 16,000 21,000
OXOQ HERENA 2H(EXE8 HH)
10,000,000& * 14 10,000
OZOHIEHH Z&8 XA FL(E2xg FY)
2,500,000& * 2 5,000
04 QIZFHALAIH B & 52,000 60,000 A8,000
OHN23sl ZECHMAMESUS SHIH(EX
g %) 40,000,000 = 14l 40,000
ORM53 d=4HHlD8 A3TMALISUH(Ex
g %) 12,000,000 14 12,000
A=A SHS XA 386,000 435,200 A 49,200
307 glz2+ol & 386,000 435,200 A 49,200
04 QIZFHALAIH E = 386,000 435,200 249,200
ORM42s I=AQMSUHS HzBH(Exg &
oH) 136,000,000& * 13l 136,000
ORM42s I=AQMSUH SHS KNI (ExE8
Ho) 209,000,000& * 14 209,000
ORM42s I=AQMsUHs snsSsw XNIA(E
T8 HN) 35,000,000& * 14 35,000
OHMi42sl S=ASHSUHE &It 22 XS
2rg ¥Y) 6,000,000& = 14 6,000
ZEEUNSUHE &K 300,000 320,000 A20,000
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R s R SE=an);
HH: HEome FE(SBSL2F/HK)
@4 Ms8d x4 (cho &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 14,000 17,500 A 3,500
04 DI2HHALALSE E X 14,000 17,500 A 3,500
OAl NEE HZUia ME X (BX8 HH)
5,000,000& = 13l 5,000
O MNEZ HdLHs &It XN (ExE8 FH)
7,000,000& = 13l 7,000
OX= NEZ dZUa &I NJA(BX8 A
) 2,000,000& = 13l 2,000
=AM HE XA 239,000 102,000 137,000
201 Let24d] 1,500 2,000 A 500
01 At 22/l 1,500 2,000 A 500
Od3aUs | 1,500
— =9 M= 50,000& = 5& =« 43| 1,000
—22= W& 500,000& = 13l 500
307 glz2tol & 237,500 100,000 137,500
04 DIZHHALALSE E X 237,500 100,000 137,500
Od= ¢ &9 Hsda |sA(Exg 3d)
237,500,000& * 14! 237,500
NHEANZHALSMENSHE XA 20,000 20,000 0
307 gl2tol & 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
OXNMEAN=E SHUSHsHI ot 24l X
2(Exs HH 20,000,000& = 13l 20,000
MEHSUHIESEXH 153,000 175,000 A22,000
307 21201 A 153,000 175,000 222,000
04 DIZHHALALSE E X 153,000 175,000 A 22,000
02021 Al 1-2l(gEAH) S0 M
(Exs HN) 38,000,000& * 14 38,000
02021 ZEHENMENSUH FINEES &
oH) 25,000,000& = 13 25,000
OHM31sl ZEcMEHEUS HFIHEZE &
oH) 90,000,000 = 13l 90,000
AMIAZZ I3 X2 15,000 20,000 A5,000
307 21201 A 15,000 20,000 A5,000
04 QIZFHALAIH B = 15,000 20,000 A5,000
OAlQl A22ZIIHal Mz X2 (BEE8 )
15,000,000& * 13l 15,000
282U XA 11,500 12,000 A 500
307 glz2+ol & 11,500 12,000 A 500
04 QIZFHALAIH E = 11,500 12,000 A 500
OZd=eld XNIud E7U3a Hzl(2Ex8 F
H) 9,500,000& = 13l 9,500
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R s R SE=an);
HH: HEome FE(SBSL2F/HK)
@4 Ms8d x4 (cho &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OZ=cll 24 FERU3 &It dHl N (Ex
g %) 1,000,000& * 28 2,000
ST M=UH XA 72,250 97,300 A 25,050
307 gl2tol & 72,250 97,300 A 25,050
04 DIZHHALALSE E X 72,250 97,300 A 25,050
OM14s] SF2IICaH MEMSSSUAZTH
E20s(BEx8 &8Y) 14,250,000& * 14 14,250
OHM14sl IF=2IICIMtl B==302 HOES
thal(2x8 3% 19,000,000& * 14 19,000
OHMosl A=ZINMTA M2 S5 NEUE
(BExg %) 19,000,000& * 14 19,000
OHM44s SF2I1latl =552 &L 0l
HUAMS (X8 M) 20,000,000 * 14! 20,000
HEHSUHEAUN XA 104,000 70,000 34,000
307 21201 A 104,000 70,000 34,000
04 QIZFHALAIR B = 104,000 70,000 34,000
02021 SF=AIANGEHEDIIUE HEA(BEEE
oH) 9,000,000& = 14| 9,000
OM93l B2 OZES Mz (BE8 HH)
45,000,000 = 14l 45,000
OZ=AITH A8 T2 AOZ2US JHAE(
2x8 %) 50,000,000 = 14! 50,000
IOUXNSTSSHOIAMEE =3 A02U3 70,000 70,000 0
307 21201 A 70,000 70,000 0
04 QIZFHALAIH B = 70,000 70,000 0
OHM233sl =2UHM=ESE OIALEE &= A0l
203 & 2021 OtAHZE SFEN R
70,000,000& = 14 70,000
d=2Z2 U XA 15,000 20,000 A5,000
307 21201 A 15,000 20,000 25,000
04 DIZHHALALSE E X 15,000 20,000 A5,000
OR4s HUI2s=HIIE d=Egd=2cUs(2
T8 HNH) 15,000,000& * 14 15,000
ZScld0F2 s XA 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 QIZFHALAIH B = 5,000 5,000 0
OZ=elaXNgus SxAuaatdel ] O
(Exs FH) 5,000,000& = 14l 5,000
HdIE AU XA 8,000 10,000 A 2,000
307 glz2+ol & 8,000 10,000 A2,000
04 QIZFHALAIH B = 8,000 10,000 A 2,000
OHMBal a3t M= tNSE2U(BEX
g ZY) 8,000,000& = 14 8,000
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R s R SE=an);
HH: HEome FE(SBSL2F/HK)
@4 Ms8d x4 (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
d=2=20U XA 45,000 50,000 A5,000
307 gl2tol & 45,000 50,000 A5,000
04 DI2ZHHALALSE E X 45,000 50,000 A5,000
OM1838 AFAIEIED 232U M= X
A(EZE FH) 45,000,000& = 14 45,000
AN AAIHE K& 30,000 30,000 0
307 21201 A 30,000 30,000 0
04 DIZHHALALSE E X 30,000 30,000 0
02021 EFAMa 22U Mzl NA(BXE
o) 30,000,000& * 1A 30,000
HEHSEISSEYH 40,000 50,000 210,000
307 21201 A 40,000 50,000 A 10,000
02 QB AANGFEX 40,000 50,000 A 10,000
OMEis 552 SHXA(Exs8 FY)
8,000,000& * 5&= 40,000
OlE=013 & MY 22 165,000 190,000 A 25,000
201 LBt 15,000 20,000 A5,000
02 =224l 15,000 20,000 A5,000
O3 O2==0& 249 15,000
—dIRea 3,000,000& » 1& 3,000
— o= 12,000,000& = 1& 12,000
307 21201 A 150,000 170,000 220,000
02 QB AAFEX 150,000 170,000 220,000
O2F IAE=01E 22 (BExs TY)
125,000,000 * 14| 125,000
ONME SSHHE 2H(BXZ8 FA)
25,000,000& = 14 25,000
AFAT=3Y 2Y(2NHEEXE) 35,000 20,000 15,000
307 glz2+ol & 35,000 20,000 15,000
03 QIAHMNHE2IHIEE 35,000 20,000 15,000
OYFHUBTATZY 29
35,000,000& * 14 35,000
()HAMMENSNEX WX (2SXH) 116,928 115,872 1,056
J| 58,464
Al 58,464
307 izl & 116,928 115,872 1,056
J| 58,464
Al 58,464
02 It AAHEE 116,928 115,872 1,056
OAlZ0o2d HaHEX A BiX
2,436,000& » 4 » 128 116,928
J| 58,464




M MsSAEL
MM SO (2 LBZ/AS)
@4 Ms8d x4 (cho &)
SN EB S (3H) - NEAY - BES ofl &k o ﬁlgﬁ HD=2
| N 58,464
(2)LLUMSHSUSX HX(2SXH) 233,856 222,088 11,768
b] 116,928
Al 116,928
307 DI2HO| & 233,856 222,088 11,768
b] 116,928
Al 116,928
02 DIZHAA AL B & 233,856 222,088 11,768
ONZMEHSKZX X
2,436,0002 * 8% * 12% 233,856
b] 116,928
Al 116,928
(Z)HONIMEHS KX X 29,232 28,968 264
b] 14,616
[ 4,384
Al 10,232
307 DI2HO| & 29,232 28,968 264
Il 14,616
[ 4,384
Al 10,232
02 DIZLAAALS B X 29,232 28,968 264
OANZZONO MEHSKZX X
2,436,0002 * 1% * 12% 29,232
b] 14,616
[ 4,384
Al 10,232
(2Y)AT=AFH0I2H XY 115,200 96,000 19,200
J| 80,640
[ 10,368
Al 24,192
307 DI2HO| & 115,200 96,000 19,200
J| 80,640
[ 10,368
Al 24,192
05 DI+ Er 2 115,200 96,000 19,200
OAZ=LHO0IEA X 115,200,0002 * 14! 115,200
b] 80,640
[ 10,368
Al 24,192
(EINZHIZS2SZIE2SLX 1,385,400 1,300,000 85,400
[ 144,677
Al 1,240,723
307 Q120 & 1,385,400 1,300,000 85,400
[ 144,677
Al 1,240,723
02 QIZFA A AL B X 1,385,400 1,300,000 85,400




SN HENED
HH: HEome FE(SBSL2F/HK)
@4 Ms8d x4 (cho &)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OdgE(54 .24 .94) =4 A=
1,385,400,000& * 14 1,385,400
= 144,677
Al 1,240,723
(AN ZMHEHMESXN AW SH XA 14,400 14,400 0
< 4,320
Al 10,080
307 gl2tol & 14,400 14,400 0
[ 4,320
Al 10,080
02 IZtA M AIHE L 14,400 14,400 0
OMENSXNEN nsdl X
100,000& *» 12% * 123 14,400
< 4,320
Al 10,080
(Z)ZHLMEY XS SH X2 1,200 1,200 0
< 360
Al 840
307 21201 A 1,200 1,200 0
< 360
Al 840
02 It S AIHE L 1,200 1,200 0
OXHIMEXNSXNEA nEH XA
100,000& » 1 = 123 1,200
< 360
Al 840
(S)MEHSXEX LA 8,500 7,800 700
< 2,550
Al 5,950
307 21201 A 8,500 7,800 700
< 2,550
Al 5,950
02 IZtE S AIHE L 8,500 7,800 700
OMEBHNSNEN 224g X
8,500,000& = 14 8,500
< 2,550
Al 5,950
(E)MEHNSDASIX S 28,800 28,800 0
= 5,864
Al 22,936
307 21201 A 28,800 28,800 0
= 5,864
Al 22,936
04 DIZHHALALSE E X 28,800 28,800 0
OMEsIa (52, HUA 5) 29
28,800,000 = 14l 28,800
< 5,864




R s R SE=an);
a: MgITe RE(2HUBY/HS)
gelr Ms&gd x4 (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
| Al 22,936
()Y ZLM0IHEUSIHEX 240,000 237,000 3,000
< 30,000
Al 210,000
307 21201 & 240,000 237,000 3,000
= 30,000
Al 210,000
04 QIZFHALAIH 2 = 240,000 237,000 3,000
OZ=AuAtOtctEHE 240,000,0003 » 14 240,000
S 30,000
Al 210,000
(D)ZETXAMI HAZUS Nzl X 60,000 60,000 0
=) 30,000
Al 30,000
307 glz2tol & 60,000 60,000 0
=) 30,000
Al 30,000
04 QIZFHALAIH E = 60,000 60,000 0
OXN33zl BA=SZ=XNAIIHAEZ=UE izl
60,000,000 * 14l 60,000
=) 30,000
Al 30,000
()= HHIHEIEEHB 2 U3 60,000 60,000 0
=) 10,000
Al 50,000
307 21201 A 60,000 60,000 0
=) 10,000
Al 50,000
04 QIZFHALAIH E = 60,000 60,000 0
OHM3al =4It &= gHBHI2HE
60,000,000 * 14l 60,000
=) 10,000
Al 50,000
(D)EIME2L X2 15,000 10,000 5,000
=) 7,500
Al 7,500
201 Let24E] 15,000 10,000 5,000
=) 7,500
Al 7,500
03 & Ar2 I 15,000 10,000 5,000
OM1028] =3 MA & HM41s M3 FHHAHA
d3t=5 9,000,000 =+ 14l 9,000
=) 4,500
Al 4,500
OM1028] M=aHAN SEANEEHE 29
4,000,000 * 14l 4,000
= 2,000




R s R SE=an);
HH: HEome FE(SBSL2F/HK)
@4 Ms8d x4 (cho &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 2,000
OHM41sl E=ZHAHME SEMEHE 29
2,000,000& = 14 2,000
< 1,000
Al 1,000
(2)=32UMB100 MHASHEH 2Y 206,250 0 206,250
J| 165,000
Al 41,250
307 gl2tol & 206,250 0 206,250
J| 165,000
Al 41,250
02 IZHEHAHEE 206,250 0 206,250
O=2H100 dFHSHE 2
206,250,000& * 14 206,250
J| 165,000
Al 41,250
2021 AIAHLEUA d==AT3 JHEl XA 200,000 0 200,000
307 21201 A 200,000 0 200,000
04 DIZHHALALSE E X 200,000 0 200,000
02021 MIATIELA d=AUS JHE X (2
T8 HH) 200,000,000& * 14 200,000
ANolgsdzel (2322 /M) 675,249 517,817 157,432
SO SHEH 22l 86,290 103,882 A 17,592
IeXNSsHEH AlE 22 81,290 97,882 A 16,592
101 14l 4,186 9,622 A5,436
4 D12t ZE2XREES 4,186 9,622 25,436
O=gXN=sdH &334 2
69,760& * 1% = 60 4,186
201 L2l 37,104 37,260 A 156
02 =224l 37,104 37,260 A 156
Ogzx=4 d2=I |RX2c
2,000,000& « 1CH 2,000
O30l & KX 2c
200,000& * 50 A 1,000
O&IIANE 2SuH 2,000,000& = 14 2,000
OJIA, &4l tH2wA 2,000,000& * 14 2,000
O35 Ald2 EIIUEEH SN =2
5,000,000& = 23l 10,000
Odide)| AZHI(FR)
1,340 = 704 = 8AI2F = 10 7,504
O A =2 100,000& * 13l 100
OdH 22 HII188 & E=
2,000,000& = 2CH 4,000
OHlH A5 &4A 1,000,000 * 23| 2,000




H=&S 0
ANolesd2el(Estd 22 /M=)
=UHSHE 22 (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OxZAIZ4H |X2el 1,500,000 = 14l 1,500
O&J|l Rot&d 2LEA  5,000,0008 » 14 5,000
405 XHobF S HI 40,000 ,000 A 11,000
01 AR ESFH S 40,000 ,000 A 11,000
O=2HsdH s2=0 7
40,000,000& * 1X 40,000
HEMSsZ AL 2el 5,000 ,000 A 1,000
201 Let24d] 5,000 ,000 A 1,000
02 2324l 5,000 ,000 A 1,000
O&EIIANE RXNE= 1,000,000& * 14 1,000
OJIH, £dli& sX 22l 500,000& * 2044 1,000
Ox=E= RA 2l 3,000,000& = 14 3,000
M AL 2t 588,959 ,935 175,024
ANI2sd el 259,654 ,844 A 16,190
201 Let24d] 257,974 174 A 14,200
01 AL 22l 4,640 10,780 AB,140
Ooztaags ¢ 50,000& = 128 = 4004 2,400
OoMgIIEENEE 7Y
1,400& = 100# = 160 2,240
02 22224l 253,334 ,394 A 8,060
OdeHoe =A2c e
180,000& = 204 = 12& 4,320
OAgAlE SEZLEH 1,000,000& * 502 5,000
OAAIE &ASIIs&Z 1,000,000& = 5 A 5,000
OLYAE HERA 2l
125,000& » 54 « 128 7,500
OxZAIZ4H |X2e 1,800,000 = 14! 1,800
OYsAE RAE=> 2,000,000& * 14 2,000
O&EIILH 23 0H 100,000& * 20& 2,000
Odstth & KX 2el 1,000,000 * 14l 1,000
O4dstth A=zl 2,000& = 2,000kg * 2 8,000
Ods=a 22 AZHI(EAUER)
9603 * 2,7004 = 4# 10,368
O= HEY DAXHI| S22
1,000,000& * 14 1,000
OxZF+ MR & dg2e
4,500,000& =+ 13l 4,500
Oo2sd =8¢ S 2HJ =g
3,000,000 = 23l 6,000
Ot ==t 2tel 200,000& = 44! 800
Odsles & RERS 50,000& = 12& 600
oIz (gerng) 12,900,000& = 12& 154,800
OIS (MoIEH) 900,000& « 12& 10,800
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M MsSAEL
HM: AoI2sHAu(2SL2Z/HE)
S MAE22 (e &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
O&IRRI(IIZ2E) 45,0008 * 128 540
OEIB(LNY) 60,000& * 12& 720
O&EII&Hl HIIZ A 1,500,000& = 13 1,500
O&dteE22 1,900,000& = 12& 22,800
O2gotdE 3| 50,000& = 13 50
O&gI|=0 A5l 100,000& * 13 100
Of& 2l X A3l 36,000& * 13 36
ORotEg EII&H I A
2,000,000 * 14 2,000
O4dsttl 282 100,000& * 13 100
206 M = Hl 1,680 3,670 A 1,990
01 M= bl 1,680 3,670 A 1,990
OF&dJ1& &fi&els vy
10,000& = 50 500
OFZIIY HOB2S %Y
12,000& * 3Z * 104 360
OAd2e &7 F2¢ 10,000& * 208 = 23| 400
O&CAIEs 7Y 7008 * 100& * 6& 420
MEH = Al A 22 329,305 138,091 191,214
101 @121l 16,325 31,751 N 15,426
04 JI2ZtH 22 XNHEE 16,325 31,751 N 15,426
OAMoI2sd 33| 16,325
-Jl2= 69,7603 * 1¥ x 1802 12,557
EEag 69,7608 * 1% + 442 3,070
—HRIF Y 69,760& * 1 » 10 698
201 Bt A H| 6,480 13,340 N 6,860
02 324t 6,480 8,480 A 2,000
OQMetis M) SXES
1,500,000& * 23] 3,000
OME s JIAH, SHla SN2
1,000,000& = 14 1,000
O&Sx HA 12,000 * 40m* 480
OANMoIE2sSE H528 s
2,000,000& * 14 2,000
401 Al HI L 2 0HHI 306,500 93,000 213,500
01 A& HI 306,500 93,000 213,500
FHOIZ MO BE, 238 L 24
12,000,000& * 14 12,000
O=0M=HEH OIEHE MY S AL
15,000& = 1,300 19,500
OANBI2sE =84 JISHHI| WA
5,000,000& * 4& 20,000




M MsSAEL
HM: AoI2sHAu(2SL2Z/HE)
S MAE22 (e &)
SA-EB .Y (BH) - ABAY - B2 o AF o San H D2
OANoI2Sa AIRA 2|2dE
10,000,000 * 14 10,000
OANMOUSSH NEE RlE=
10,000,000& * 404 & 40,000
OZJIMEs2 AdEs SAE%
5,000,000 * 14 5,000
OANMol2s2 W JI2E &l
200,000,000& = 14 200,000
HYSHBH(MSTED)(IIEH/IIE 144,044 144,966 N922
Jl2& bl 144,044 144,966 N 922
Jl2&l 144,044 144,966 N922
201 LEr2 Y| 60,584 61,506 922
01 AF22t2l bl 60,584 61,506 N 922
OsAMEXN 7 16,000 * 198t A x 12& 3,648
OEZ A 7,000& * BA! x 19Y x 128 9,576
Ogbteg 100,000& * 12& 1,200
O A7 50,000& = 12& 600
OAxR2H&H| 8,180
— 2A| %2l 500,000& * 2CH 1,000
— Z2lE %2 100,000 * 4CH = 50/100 200
— 2A EY 200,000& * 53 « 14 1,000
— IZ2E EU(E8) 200,000& * 53 * 404 4,000
— D2 EU(Ze2) 200,0008 * 53 ~ 104 1,000
—PC =2l 100,000 * 19CH = 20/100 380
— JIEF =2lb| 50,000& = 12& 600
OJIEF AFR 22l bl 5,000& * 19¥ x 12& 1,140
OY=ZH(Al22sE, AUx=d9H) 36,240
— AR (ADSSE) 60,0008 « 1H x 113 6,780
— =X (AUSSZE) 30,0008 » 1H x 252 7,560
— =X (AUHLEEE) 60,0008 « 1H x 365 21,900
202 04 bl 78,660 78,660 0
01 2LHOHI 78,660 78,660 0
O2tLH o HI 20,000& = 19¥ = 122  12& 54,720
O&2 ¢ Hl 90,0003 *» 19 = 14 23,940
203 2P EF | 3,600 3,600 0
04 EANSHLRF=AH| 3,600 3,600 0
ORANESIELERFAH| 300,000& = 12& 3,600
204 Z 24| 1,200 1,200 0
01 M HR-HAY| 1,200 1,200 0
OXBHIALAHMAY| (NS EWE)
100,000 *» 1 = 12& 1,200




